



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right) + \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{4} =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{93}{500}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{4} = \left(-\frac{31}{108}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{48}\right)$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{131}{750}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{7}{24}\right)$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{6}\right) = \frac{11}{12}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) = \frac{11}{100}$$

$$\left(\frac{1}{5}\right) + \frac{1}{6} = \frac{11}{30}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(-\frac{1}{6}\right) - \frac{1}{4} = \left(-\frac{5}{12}\right)$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{6} = \frac{37}{750}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{59}{64}\right)$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{2}\right) = \frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{2}{5} = \left(-\frac{27}{80}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{3} = \frac{11}{48}$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$